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GSQ/M-20 1685
ECONOMICS PUBLIC FINANCE

Option (ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 & 2 are

compulsory.  Rest three questions can be attempted from

any three Units, selecting one question from each Unit.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 o 2

vfuok;Z gSa A 'ks"k rhu iz'u fdUgha rhu bdkb;ksa esa ls ,d

iz'u pqurs gq, dhft, A

1. In India, fiscal policy has failed to check economic

inequalities and to solve the problem of unemployment.

Moreover, economy is slowing down. On this basis,

answer the following questions :

Hkkjr esa jktdks"kh; uhfr vk£Fkd vlekurk dks ?kVkus esa vliQy

jgh gS rFkk csjkstxkjh dh leL;k dks Hkh mfpr <ax ls ugha lqy>k

ldh gS A vFkZO;oLFkk Hkh lqLr gS A bl vk/kj ij fuEufyf[kr

iz'uksa ds mÙkj nhft, %

(i) State the contribution of fiscal policy in India.

Hkkjr esa jktdks"kh; uhfr dk ;ksxnku crkb, A
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(ii) What are the four shortcomings of this policy ?

bl uhfr dh pkj dfe;k¡ crkb, A

(iii) How slowdown of the economy can be eliminated

by fiscal policy ?

jktdks"kh; uhfr ls Hkkjrh; vFkZO;oLFkk dh lqLrh@de

fodkl nj dks dSls Bhd fd;k tk ldrk gS \

(iv) What are the instruments of fiscal policy that can

help in after effects of corona virus ? 4×4=16

jktdks"kh; uhfr ds dkSuls midj.k dksjksuk ok;jl ds

izHkkoksa dks nwj djus esa lgk;d gksaxs \

2. (a) Match the following with their correct answer : 1×5

(i) Public good 1. Common property

resource

(ii) Non-rival 2. Club goods

(iii) Non-excludable 3. Non-rival & non-

excludable

(iv) Fishing pond 4. Mixed goods

(v) Paul A. Samuelson 5. Public goods

fuEufyf[kr dks muds lgh mÙkj ls feykb;s %

(i) lkoZtfud oLrq,¡ 1. vke dq.M lalk/u

(ii) xSj&izfr}anh 2. Dyc oLrq,¡

(iii) vo£tr 3. xSj&izfrLi/hZ o

vo£tr

(iv) eNyh rkykc 4. fef Ükzr oLrq,¡

(v) iky ,- lSE;wvYlu 5. lkoZtfud oLrq,¡
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(b) Choose the correct answer from the given

alternatives : 5×1

fn;s x;s fodYiksa ls lgh mÙkj dk p;u dhft, %

(i) When tax is imposed as a fixed portion of

income, it is known as :

(1) Proportional tax (2) Progressive tax

(3) Regressive tax (4) Degressive tax

tc dj vk; ds ,d fuf'pr vuqikr esa yxk;k

tkrk gS] rks mls dgk tkrk gS %

(1) vkuqikfrd dj (2) izxfr'khy dj

(3) izfrxkeh dj (4) v/ksxkeh dj

(ii) GST is an example of :

(1) ad valorem taxes (2) specific taxes

(3) direct taxes (4) indirect taxes

GST ,d mnkgj.k gS %

(1) ewY;kuqlkj dj dk (2) fof'k"V dj dk

(3) izR;{k dj dk (4) vizR;{k dj dk

(iii) Which of the following is not a classification

of public debt ?

(1) Gross and net

(2) Sensible and non-sensible

(3) Productive and unproductive

(4) Funded and unfunded
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fuEufyf[kr esa ls dkSulk lkoZtfud ½.k dk

oxhZdj.k ugha gS \

(1) ldy vkSj 'kq¼

(2) mfpr vkSj vuqfpr

(3) mRikndh; rFkk vuqRikndh;

(4) dksf"kr vkSj xSj&dksf"kr

(iv) Due to direct taxes, disposable income of the

people :

(1) rises (2) falls

(3) remains constant (4) none of these

izR;{k djksa ds yxkus ls yksxksa dh miHkksx ds

fy, vk; %

(1) c<+rh gS (2) de gksrh gS

(3) fLFkj jgrh gS (4) buesa ls dksbZ ugha

(v) Cyclical unemployment arises due to :

(1) external factors

(2) internal factors

(3) structural factors

(4) none of the above

pØh; csjkstxkjh ds mRiUu gksus dk dkj.k gS %

(1) ckgjh dkjd

(2) vkUrfjd dkjd

(3) lajpukRed dkjd

(4) mi;qZDr esa ls dksbZ ugha
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(c) Short answer type questions : 2×2=4

(i) Differentiate between revenue and capital

expenditure

(ii) Two examples of non-tax revenue of Govt.

y?kq mÙkjh; iz'u %

(i) jktLo O;; o iw¡thxr O;; esa vUrj crkb, A

(ii) ljdkj ds xSj&dj jktLo ds Ïksrksa ds nks

mnkgj.k nhft, A

Unit I (bdkbZ I)

3. Define Public Finance. State the difference between public

and private finance.

lkoZtfud foÙk dh ifjHkk"kk nhft, A lkoZtfud foÙk o futh

foÙk esa vUrj dhft, A

Or (vFkok)

4. Explain with the help of diagrams the conditions of

maximum social advantage.

js[kkfp=kksa dh lgk;rk ls vf/dre lkekftd ykHk dh 'krks± dh

O;k[;k dhft, A

Unit II (bdkbZ II)

5. Explain the effects of public expenditure in an economy.

vFkZO;oLFkk esa lkoZtfud O;; ds izHkkoksa dk o.kZu dhft, A
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Or (vFkok)

6. What are the canons of public expenditure ? Also explain

Wagner and Wiseman Peacock law of public expenditure.

lkoZtfud O;; ds fl¼karksa dh O;k[;k dhft, A oSxuj o
okbZteSu fidkWd ds lkoZtfud O;; ds fu;eksa dks Hkh crkb, A

Unit III (bdkbZ III)

7. Discuss the factors which determine the shifting of a tax.

djksa ds foorZu dks fu/kZfjr djus okys rÙoksa dk o.kZu dhft, A

Or (vFkok)

8. What is a Tax ? Explain its canons and effects.

dj fdls dgrs gSa \ blds fl¼kUrksa vkSj izHkkoksa dk o.kZu
dhft, A

Unit IV (bdkbZ IV)

9. What do you mean by deficit financing ? Explain its

objectives and limitations.

?kkVs dh foÙk&O;oLFkk fdls dgrs gSa \ blds mís';ksa o lhekvksa
ds ckjs esa crkb, A

Or (vFkok)

10. Define government budget. Explain its components and

types. What can be the objectives of a budget ?

ljdkjh ctV dks ifjHkkf"kr dhft, A blds ?kVdksa vkSj izdkjksa dk
o.kZu dhft, A ctV ds mís';ksa dk Hkh o.kZu dhft, A
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